
Rearranging One-Step Formulae. Make the subject the letter given in brackets. 

(a) (b) (c) (d) 

𝑉 = 𝐼 × 𝑅        (𝑅) 
 

𝑅 =
𝑉

𝐼
 

𝐴 = 𝑏 × ℎ        (𝑏) 
 

𝑏 =
𝐴

ℎ
 

𝑃 =
𝐹

𝐴
        (𝐹) 

 
𝐹 = 𝐴𝑃 

𝐷 =
𝑀

𝑉
        (𝑀) 

 
𝑀 = 𝐷𝑉 

(e) (f) (g) (h) 

𝐸 = 𝐶 + 𝐷       (𝐶)  
 

𝐶 = 𝐸 − 𝐷 

𝑎 = 𝑏 + 𝑐       (𝑐) 
 

𝑐 = 𝑎 − 𝑏 

𝑆 = 𝑈 − 𝑉       (𝑈) 
 

𝑈 = 𝑆 + 𝑉 

𝑦 = 𝑥 − 5         (𝑥) 
 

𝑥 = 𝑦 + 5 

(i) (j) (k) (l) 

𝑦 = 𝑥2       (𝑥) 
 

𝑥 = √𝑦 

𝑢 = 𝑣2       (𝑣) 
 

𝑣 = √𝑢 

𝑇 = √𝑆      (𝑆) 
 

𝑆 = 𝑇2 

𝑎 = √𝑏       (𝑏) 
 

𝑏 = 𝑎2 

(m) (n) (o) (p) 

𝑦 = 𝑚𝑥 + 𝑐       (𝑐) 
 

𝑐 = 𝑦 − 𝑚𝑥 

𝑣 = 𝑢 + 𝑎𝑡       (𝑢) 
 

𝑢 = 𝑣 − 𝑎𝑡 

𝑑 = 𝑐2 + 𝑏        (𝑏) 
 

𝑏 = 𝑑 − 𝑐2 

𝑉 = 𝑅 − 𝐼2        (𝑅) 
 

𝑅 = 𝑉 + 𝐼2 

 


